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What can we do to achieve
environmentally sustainable food
security?



We already value food...

..but incorrectly
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What can we do to achieve
environmentally sustainable food security?

1. Produce differently: Change how food is grown,
reared, transported & distributed

2. Rebalance the system: Improve governance -
address equity issues and waste

3. Consume differently: Shift diets away from
resource intensive foods

ALL NECESSARY BUT NOT SUFFICIENT



What is the budget?
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Livewell report, WWF, 2011



Foodprints by Diet Type: t CO2e/person
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Mote: All estimates based on average food production emissions for the US.
Footprints include emissions from supply chain losses, consumer waste and
consumption.. Each of the four example diets is based on 2,600 kcal of food
consumed per day, which in the US equates to around 3,900 kcal of supplied food.

Sources: ERS/USDA, various LCA and EIO-LCA data snn::;-'r'.'ﬁﬁnnmﬁh
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Eating more — esp. more high impact foods
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But also getting fatter...
most fat people live in developing countries
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Fat is expensive

e 2-6% health care costs in developed countries

* And growing in developing countries
e e.g. 4% total costs in China

* |Indirect costs (sickness, loss of productivity
etc) much higher



The challerge: “ 60-100% more
food withyesSs impact”



We should redefine the challenge

* Need to set a budget

e Optimal nutrition within this budget?’
* How do you incentivise producers?
* How do you incentivise people?

* |[nvestment in social sciences* as much as natural
& physical sciences needed

*Not just economics!



Thank you

www.fcrn.org.uk
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